$24E FFREARPMEESTE—TYIR—ILKXE

[E£]
238 A @] B Q]|
11:40 BB (B (&iEK) 12:20R)1I (T3—)
5-5 0-29 47-0
15 67 91
10-20 0-38 44-0
22H 6 2 3 4
| 12:20 9:40 | 10:20 11:00
Al(Ta—) 9:00H O (FR &) AR (8 (BEK) PR (BRERJIN) ok (£ RmE)
29 1070 40 40 7| 12 °73%6 99 33 21719 94
19-17 26-7 7-34 | 12-5
fr H X o T X iR = T
H F P Ji a Bl =1 |
ok it - I #t =) 7K I
B B A A B B
@ 9:40 @ 10:20
23H ik (£ R2mE) “HHFE)
19-7 46-0
24 "o 26 92 0 0
(S
22H B F—LI F—Ls T AYF Oy 23H R ] F—L
1900 ~ HWF/EB VS XBfB . D 9240 ~ 1OKE
2940 ~ fAII— VS IO—A HFEB KBrB ® 1020 ~ 3OKE
31020 ~ KBHRA VSHEHE m— Io—A ® 11:00 ~ 5OKHE
41100 ~ =&/KkB VS ITa—B RiBFA RE @ 1140 ~ 6DBE
511:40 ~ FFKA VS HR BiEKkB I3—B ® 1220 ~ 3DBE
61220 ~ BRAJI VS 1DE BiEKkA <P ® 1300 ~ SDEFE
71300 ~ HF/EA VS £RFA fRA I 1DE

A e UNERZ DN
2013.6.22-23

c ®]
13:.00E % (8L &)
12-10
17
10-7
5 7
11:40 1300 |
—/B(XKiB) TR GE) (&EiEK)
13 5970 15 550 |
54-0 20-7
=] fi# H il
=1 P il
7K X E L]
A A
@ 11:00
{EBEE (KBF)
5-26
19 1,00 48
F—L TJ
VS 20 8E SDiE ol
VS 4D EE 108E 208E
VS 7DEE SDEE 4D E
VS 1DE SNE 7DE
VS 4D REE 6D HE 1DE
VS 7DBE 3DEE ADEE



23H

22H

23H

22H

A @] B Q|
11:40345 (&&K) 12:20F9FE (BRI
7-31 37-7
21 81 12
14-50 48-5
1 2 3
9:00 9:40 12:20 11:00
& (KBF) =15 (BRI &2 R (KE) =R (& ERA)
49-0 36-24 34-7 35-19
09 3 44 82 61 54
60-0 17-20 48-0 26-35
H £ fi# X T H X Jia)
P B Bz a P Bz i
pid i X #t I s #t —
Ladys D A
@ 9:40 @ 10:20
B () (F5EK) =R
0-40 79 91 5-21 35
0-39 16-14

[Fhz£]

R F—LI F—Ls T AYF Oy 23H =] F—L
1900 ~ HFE VSERA . D 9240 ~ 1OKE
2940 ~ A VS KiBFD HFE - £RZEf ® 1020 ~ 3DKE
31020 ~ Ta— VS HFE ¥ - KEBFD ® 1100 ~ 5OHE
411:00 ~ XKEBFA VS HIl— Ia— - HEER @ 11:40 ~ 1DOBE
511:40 ~ KBHFC VS JZFK XKBFA - M- ® 12220 ~ 3DKE
61220 ~ #RERMA)I VS KiBHB XBHC - &HFEK ® 1300 ~ SDEE

C ®]
13:00— /B8 (KBH)
47-7
14
36-7
11:40 10:20
AR (HFE) MK (BEK)
0-62 26-12
1 3 22
0-57 17-10
X = R X
B =1 =) i
#t 7K R *t
C H
@ 11:00 )N
MR &EEK)
12 7 57
5-24
F—L TJ
VS 20D EE SDiE 6DME
VS 4D EE 10KE 208 EF
VS 6MELE SOME 4D E
VS 20 E 5ME 6MEE
VS ADEE 1DBE 20 HE
VS 6DIEE DA ADBE



